1 2 1 4 5 6 ‘ 7 8 9 10 : 11 . 12 13 ‘ 14 15 16 ’
© 3 9o £
L b 8% g s
2k i 2l ] : i CLEAR i i Sl s§ SR §
| $ | ———— 3-5/8" METAL STUD FRAMING @ = = e T 88 %
3-5/8" METAL STUD FRAMING | , = = B B g £ <&
- | ———— 3-5/8" METAL STUD FRAMING @ o 16"/0C TO STRUCTURE ABOVE@ | 3-5/8" METAL STUD FRAMING @ ———— 3-5/8" METAL STUD FRAMING @ b 16" 0L TO STRUCTURE ABOVE. - == - - &L 3 2
N | | | | - 16" 0.C. TO STRUCTURE ABOVE | | 16" 0.C. TO STRUCTURE ABOVE ——— CEILING HEIGHT AND TYPE - 2 - : o § =
16" 0. TO STRUCTURE ABOVE, | |/ < o L : o CELNCHEGHT AN - : : : PLAM-2 SOFFIT 5
. N——nl R 1 ———— CEILING HEIGHT AND TYPE N - c \ GB SOFFIT c = ¥
. - A NI \ - - - - =
B 5 | | e gl | - | | 7 | | AS SCHEDULED i i | " . EUROPEAN SELF-CLOSING HINGES = =
. I L CEILING HEIGHT AND TYPE S | CELNGHEIGT ADTYPE ™ . I : : : : :
o [ ] AS SCHEDULED N 25 SCHEDULED — 7 i CEILING HEIGHT AND TYPE . <IN = - - .
1 T Al $ | 4N AS SCHEDULED - | 31 \P | c ;I : -
7 al | \I\ il ! < o : -
i $ ! 5/8" GB TYP P J\P TN T ——— 5/8" GNBTYP. : = : g
1] - . ———— PLAM = . ~ - )
] \P | L S/&GWBTYP. A — | | TN 58" GWBTYP. - 3-5/8" METAL STUD CEILING - - ™ , - : 5
' T . g A0 / MELAMINE INTERIOR - .
il | oAl 3-5/8" METAL STUD CEILING A — 1472 PLWOOD TYP. | | l ———— 3-5/8" METAL STUD CEILING : FRAMING @ 16" O.C. & Z - = : :
] L] FRAMING @16* 0.C | 3-5/8" METAL STUD CEILING 1 FRAMING @ 16" 0.C 71 =< : - PLAM ADJ. SHELVES W/ PVC EDGES & - ]
E) | - 1 . ] FRAMING @16" O.C. i - - | 0 : - o | B T
/ ! : LT k& i - i Y [— L oW ~~s -
M : ] e —— 3-5/8" METAL STUD CEILING 1 | | | 3 —— — PTD-3 GWB SOFFT, | | = g - - = B S g
jI— / FRAMING @ 16° 0. " | . ALL SURFACES ST Bl © : : iy z\z ~ ADIUSTABLE SHELF
- - P~ = = | =
fffffff i Lo e — I = — — — B EARCIERN, - - 8 z\\ PLAM-2 AT ALL EXPOSED SURFACES
| = l . I - - I = A = = w = = \ g w
e z . | . {— _______ — LE 1 seenan - — PLAM: SEE ELEVATION 2 : - 1/2" PLAM BACK PANEL B o 2 =
SEE PLAN - o o . = ‘ 2 - . POWER B & o S
i # = | | = I | . ——— PTD-3ALLACT2 o; AN — : : | 1/2TPLAMBACKPANEL = : I . Z £ £ S 8
5 Z i \P | = 134" 4" AXIOM PAIRED " - 1 HARDWARE L = S & = g 2
a I [2x] o| ] o -
= J\ » SEE RCP o SEERCPL T DN ) & - : N /— UNDER CABINET LIGHT 1/n 2 2 5 E %
i i \P 1T : : 15 1 :
a = [— . -
ull: - — I 7 '
— ALGN — N
Y 7 SOFFIT DETAIL (2 SOFFIT DETAIL 3 SOFFIT DETAIL SOFFIT DETAIL 5 SOFFIT DETAIL ;v | 7 = % N | 7] :I
11/2"=1-0" 11/2"=1-0" 11/2"=1-0" 11/2"=1-0" 11/2" =1-0" N N N
Aﬁ \T
7 CASEWORK DETAIL ) CASEWORK DETAIL
1 11/2" =1-0" 11/2"=1-0"
3-5/8" METAL STUD CEILING ioor AR
FRAMING @ 16" O.C. o i CLEAR 1
CLEAR ’ N -
K —— = : = - : S
- A P TN T TR - - - - \ PLAM SOFFIT
\ - : \ PLAM SOFFIT = : FUROPEAN SELF-CLOSING HINGES
5/8" GWB TYP. - - EUROPEAN SELF-CLOSING HINGES = -
SEE ELEVATON | CORNER BEAD : - 2 |
| 1/2" PLYWOOD - |~ 2 -
PLAM; SEE ELEVATION : : - - \\\
- N \ z - = \ MELAMINE INTERIOR
P - - \ MELAMINE INTERIOR % : - PLAM ADJ. SHELVES W/ PVC EDGES
5 SOFFIT DETAIL = : - PLAM ADJ. SHELVES W/ PVC EDGES w| o - =
11/2"=1-0" =l : 2 < : =
J 0w m - [ — =) A - -
= o - - = ~ o -
C|> (73] £l = BN =
p R~ o - - - \
g . : : \ - -— PLAM; SEE ELEVATION
- — PLAM; SEE ELEVATION - - 1/2" PLAM BACK PANEL
: z 1/2" PLAM BACK PANEL - -
] - . |V - 8 HARDWARE o
, “ sim. : : HARDWARE :/: UNDER CABINET LIGHT
sim. 2 - z -
ﬁ NED, :/: % UNDER CABINET LIGHT P :
N NG . I
T 2-0 1" sim ’ -7 < LINEN DROP HINGED LID W/ HANDLE; - - ~ -
1 oz ‘ CLEAR LEXAN N a | )
u OR 26" SEE FLOOR PLAN ﬂ L SSM-1 COUNTER, BACKSPLASH & - ~— N
i I RETURNS . SSM-1 COUNTER, BACKSPLASH & & L
% , W % U ¥ RETURNS. CUT HOLE FOR LINEN DROP 15" — ~ N
! . | , , B PLAM SLIDE OUT SHELF WITH METAL N
I [ TUBING SYSTEM ATTACHED AND CUT OUT ,
| =H | i ] Uvinw TR AT CENTER FOR SOILED LINEN BAG, BOLT 50, CASEWORK DETAIL 57, CASEWORK DETAIL
. ‘W--—— > sim. 8- -3 — - A2 g:E(L)FUGH PLAM TO SECURE TUBING TO 11/2" = 1-0" 11/2" = 1-0"
DRAWER B | | ,' ' ' - SEE RCP\ l
\ l 1 L 2'-0
SSM-1 COUNTERTOP & BACKSPLASH -2 14 L 1 AR —=
: s HARDWARE | ] / CLEAR ’ |>< - : —
: : ] ~ HARDWARE : | \ - - - ok - -
- - “— PLAM DIVIDER | | < DOOR PULLS g B : : =
= 2 ~
- -1 g 1~ cBer Bevono | BT BEYOND 1l g PAINTED GHB SOFFIT : | = 0
= AB \ f‘\ - - - = PLAM SOFFIT —
: = |+ 172" PLAMBACK PANEL — 2 A= ROBE HOOKS Z -
: = | MELAMINE INTERIOR ] | | I LINEN CART, 08 TR : - L : : 2 o
. 5 - e - /// ADIUSTABLE SHELF . — - \ | N d : s : : o —
; et ER ¢ i - L . | e 1/2° PLAM BACK PANEL : : : : O o
" Ik ] ° R % | 28 W s oo : : : : -
= = 1/2" PLAM BACK PANEL ~|D K ~|o ; : - c = o )
— g | ~ \ ! g : : : )
- : » PLAM; SEE ELEVATION . | J : - : — et QN
- : EUROPEAN SELF-CLOSING HINGES - - - - : = O
F - z | | - = N ] L] (e
- - \ ! : - : : LZLI L
- - PLAM; SEE ELEVATION l | : : : : O :m
; N / f | : 5 5 : = %)
L - — 4" BASE AS SCHEDULED — ¥ l | - - - - 0 L
. | : E - - : :
— | _— BASE AS SCHEDULED al | f - - - : : oc o
7 L _ 5 s o : : : o
> S 7 ‘) ] S c - = E .
o o ! = [¥2]
N N N N N : - : : < =
~ 3 ™ 3 = - = = ‘ = P
£ 2 - : - . = = =
= > = ° == [ @a
- o - - W =
9 CASEWORK DETAIL T CASEWORK DETAIL T CASEWORK DETAIL : : : : . = c
: - - | 2
11/2"=1-0" 11/2" =1-0" 11/2" =1"-0" - - - 8 © & 3
: - PLAM; SEE ELEVATION - -
i z o HARDWARE - : elel.,
- . - o PLAM; SEE ELEVATION sls|e
- c - : 4 E
m si - - - - HARDWARE gz
N . : = : : | =
sim 1/8" RADIUS EDGE _ : e - A : —
D 4 2'-6" i a BLOCKING < 4 - = : = _
1 = “ - -
B " W SOLID SURFACE BACKSPLASH : - - - = §
- o o - 2o
| — 3/8" RADIUS COVE SOLID SURFACE COUNTER TOP L ¢ - - = Elzl=
% [ / ; INTEGRAL SINK: SSM-3 VARIES. SEE FLOOR PLAN SOLD SUREACE COUNTER TOP i T : : E 2 % S
i L— GROMMET . I I g - Sl=z1g
] ] | 1/8" RADIUS EDGE = - 21s5|a
I I I | — SSM-1 COUNTER - - sl=ls
N < N/ | = - 2la
X x — e G - DRAWER — : - a 2
B SSM-1 COUNTERTOP, BACKSPLASH & = : &
k MATERIAL = - : | HARDWARE | |
N - - T -
c PLAM APRON; SEE ELEVATION , § t = Ul & - -
L 7 ﬂ sim. _\— APRON/DRAWER - oo - - - —{°|E
T CLEAR MAX w L1 - : : : GRAPHIC SCALE:
E - E E Ou 1n
MTL. BRACKET: - : : : he—
. RAKKS COUNTER SUPPORT; 274 EDGE DETAIL 715 -EDGE DETAIL - - MELAMINE INTERIOR : : —
\— COORDINATE SIZE OF BRACKET 3" =1-Q" 3" =1-0" = = / ADIUSTABLE SHELE - - SCALE: As indicated
- WITH COUNTER TOP (TYP) 5 - s 11 / : : SROIECT MANAGER: DY
5 CABINET BEYOND - = r-2 = - c -
o X INSULATED PIPE KIT 3 « ¥ = ] IC/DRAWN BY: s
\ o SOLID SURFACE COUNTER TOP g Ly o - '~ —— —
. c AND BACKSPLASH - - PLAM; SEE ELEV, - - :
ik MK oo z - - P : : [ austasie st
B e I BLOCKING : | V2 PLAMBACK PANEL - = PROIECT NO: 09122
¥ GROMVET - : : e | Byl [ 012010
| ;(L)(L)'CDKIS;J;FACE COUNTER TOP / : / c / HNGES, TYP, SHEET TITLE:
! L - EUROPEAN SELF- T o = DETAILS
—% 1/8" RADIUS EDGE = . / CLOSING HINGES - 2
N I = v c - o 7
i = — BASE AS SCHEDULED
] = A il > n
CLEAR MAX . BASE AS SCHEDULED X l = : I 4" BASE AS SCHEDULED
: E > / /
o
I
A 3
3"
SEWORK DETAIL CASEWORK DETAIL - SHEET No.
13 CASEWORK DETAIL 13 CASEWORK DETAIL 16 !:E3|"DGI1El [SE'ETAIL 17 E’[')GI1E %!.ETAIL 18 (iP%I T 0:' 19 e ooy A_SOO
"o 41 AN = 1" =1'_ =1- =1-
11/2" =1-0° 11/2"=1-0 ©COPYRIGHT 2008 SMRTINC. |
T 7 7 5 3 7 ) 5 i iE T2 T3 * i 15 3



